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$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy 1lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r——-r—— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch

$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
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$ python3 prog.py
$ python3 prog.py —--help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python3 prog.py —--verbose
usage: prog.py [—h]
prog.py: error: unrecognized arguments: —--verbose
$ python3 prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)
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$ python3 prog.py

usage: prog.py [—-h] echo

prog.py: error: the following arguments are required: echo
$ python3 prog.py —--help

usage: prog.py [-h] echo

positional arguments:

echo
options:
-h, —-—-help show this help message and exit
$ python3 prog.py foo
foo
e R BN EE:

o TAPEINT add_argument () , MBI IE R AR A @83 M AR R 2 WL i 251 2
o BUTEWRPI AN A RE 7 IRp 75 24 *@%%Iii_ﬁlﬁo
« HEEMPFITH, parse_args () BIAJEMEEMRE T echo E{HBRIH]EHE T R .

o X—AHIE argparse GARHEHAYRAN “BER” (RI2UE, ATEEREWAAL B AAHINMER) o
RIS, XA S EEA T IEN TS 2, #2 echo.

TERE, BEAR help 75 Hh & EACA S50 (5 B, (BAEDIEA 4 P2 FORR B R EIRIE Y echo @i

S, BTSSRI Z A, BAMMRAAR B B EM . IR A — B F et S 15 5 1 -

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)
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$ python3 prog.py -h
usage: prog.py [—-h] echo

positional arguments:
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echo echo the string you use here
options:
-h, —--help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4

16

$ python3 prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args ()
if args.verbosity:
print ("verbosity turned on")

*%%XENH

$ python3 prog.py —--verbosity 1
verbosity turned on

$ python3 prog.py

$ python3 prog.py —-help

(FITaRE:)



(R L —5)

usage: prog.py [-h] [--verbosity VERBOSITY]
options:
-h, —--help show this help message and exit

——verbosity VERBOSITY
increase output verbosity
$ python3 prog.py —--verbosity
usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument --verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true")
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")
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$ python3 prog.py —--verbose

verbosity turned on

$ python3 prog.py —--verbose 1

usage: prog.py [-h] [--verbose]

prog.py: error: unrecognized arguments: 1
$ python3 prog.py —--help

usage: prog.py [-h] [—--verbose]

options:
-h, —--help show this help message and exit
—-—-verbose increase output verbosity

e AR E:

o BUTE, IX—kTiE ZHE— MR, MAER B2 MER T ARTE .. FRATTH: 20 A4E T eI 44 7
RAF Ak — R . HERIRATIAERSE T — S8 KBt action, HIR(EN "store_true". X7
W, Mk —kILEAER),  args.verbose TR{H N True. V&4 45 E B & Hl{E K False.

o DR HAEEAMER, ESmA, ARSI EIERR .
o YEEAIFEY help 30




4.1 35i%kIN
IR AT A I RIS, ol Gt BIRGEER R B 2 8. H Pt E R i

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

ORI

$ python3 prog.py -v
verbosity turned on

$ python3 prog.py —--help
usage: prog.py [-h] [-V]

options:
-h, --help show this help message and exit
-v, —-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store true",
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbose:
print (f"the square of {args.square/ equals {answer ")
else:
print (answer)
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$ python3 prog.py

usage: prog.py [—-h] [-v] square

prog.py: error: the following arguments are required: square
$ python3 prog.py 4

16

$ python3 prog.py 4 —--verbose

the square of 4 equals 16

$ python3 prog.py —--verbose 4

the square of 4 equals 16
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

if args.verbosity == 2:

print (f"the square of {args.square/ equals {answer ")
elif args.verbosity == 1:

print (f"{args.square "2 == {answer}'")
else:

print (answer)
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$ python3 prog.py 4

16

$ python3 prog.py 4 -v

usage: prog.py [-h] [-v VERBOSITY] square
prog.py: error: argument -v/--verbosity: expected one argument
$ python3 prog.py 4 -v 1

472 == 16

$ python3 prog.py 4 -v 2

the square of 4 equals 16

$ python3 prog.py 4 -v 3

16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer ")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer '")
else:
print (answer)
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$ python3 prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python3 prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, --help show this help message and exit

-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer /")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer '")
else:
print (answer)
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$ python3 prog.py 4

16
$ python3 prog.py 4 -v
472 == 16

$ python3 prog.py 4 -vv

the square of 4 equals 16

$ python3 prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python3 prog.py 4 -v 1

usage: prog.py [-h] [-Vv] square

prog.py: error: unrecognized arguments: 1

$ python3 prog.py 4 -h

usage: prog.py [-h] [-Vv] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit
-v, —-verbosity increase output verbosity
$ python3 prog.py 4 —-vvv
16
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import argparse
parser = argparse.ArgumentParser ()
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parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

# bugfix: replace == with >=

if args.verbosity >= 2:

print (f"the square of {args.square/ equals {answer ")
elif args.verbosity >= 1:

print (f"{args.square "2 == {answer ")
else:

print (answer)
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$ python3 prog.py 4 -vvv
the square of 4 equals 16
$ python3 prog.py 4 —-vvvv
the square of 4 equals 16
$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 11, in <module>

if args.verbosity >= 2:

TypeError: '>=' not supported between instances of 'NoneType' and 'int'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer /")
elif args.verbosity >= 1:
print (f" {args.square "2 == {answer /")
else:
print (answer)
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$ python3 prog.py 4
16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x/} to the power {args.y/) equals {answer /")
elif args.verbosity >= 1:

print (f"{args.x/"{args.y} == {answer ")
else:

print (answer)
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$ python3 prog.py

usage: prog.py [-h] [-Vv] x y

prog.py: error: the following arguments are required: x, y
$ python3 prog.py -h

usage: prog.py [-h] [-Vv] x y

positional arguments:

x the base
y the exponent
options:
-h, --help show this help message and exit
-v, —-verbosity
$ python3 prog.py 4 2 -v
472 == 16

YRR H T R TRAT— A AL S B BRSO . DA R 0 R RN Bk R &
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"Running '{__ file }'")
if args.verbosity >= 1:

print (f"{args.x/"{args.y} == ", end="")
print (answer)

miR:

$ python3 prog.py 4 2

16
$ python3 prog.py 4 2 -v
472 == 16

$ python3 prog.py 4 2 -vv
Running 'prog.py'
472 == 16
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import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_ true™)

parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:
print (answer)

elif args.verbose:
print (f"{args.x/} to the power {args.y} equals {answer /")

else:
print (£f" {args.x/

A

‘args.y ) == {answer ")
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$ python3 prog.py 4 2

472 == 16
$ python3 prog.py 4 2 —-q
16

$ python3 prog.py 4 2 -v

4 to the power 2 equals 16

$ python3 prog.py 4 2 -vqgq

usage: prog.py [-h] [-v | -g] x vy

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
$ python3 prog.py 4 2 -v —--quiet

usage: prog.py [-h] [-v | -g] x vy

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store true")
group.add_argument ("-g", "--quiet", action="store_ true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer /")
else:

print (f"{args.x/"{args.y} == {answer ")
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$ python3 prog.py —--help
usage: prog.py [-h] [-v | —gq] x vy

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, —-help show this help message and exit
-v, ——-verbose
-g, ——quiet
=
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